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Economics II   Macroeconomics (EFA)
Monday, September 4th 2006    (60 min.) (resit) 
Please note: 

· At first please check the exam paper: are there 7 pages / all pages well readable?

· Please only work in the exam paper; use the boxes for your answers. You do not need own paper. 

· Your calculations should be shown. The complete solution method must be traceable! 

· You can achieve 60 points – in 60 minutes! => one minute is approximately worth one point; please consider the indicated scores.  The tasks are formulated that way that usually short answers are required. Therefore do not spend too much time with "inferior" tasks!  
NEW!: To obtain a 100% marks you have to gather 60 points. There are four tasks worth 20 points each   you have to answer only 3 of the four tasks!
                                            Important: Only 3 tasks will be marked ! 
In case you worked at more than 3 tasks it is necessary that you clearly show which 3 tasks are to be counted (= check below). If you don’t indicate which tasks to mark, only the first three will be counted. 
· Permitted are:  pens, ruler, calculator (without word processing function), English language dictionary. 
· [image: image3.png]order by government

flow of input



Please do not use a pencil (except in diagrams) nor red pens.
· Mobile phones have to be switched off!
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Task 1 IS/LM Model
[20 points]
1.1 Define the LM-Curve.      
[2 points]
1.2 Describe the IS/LM model! (Not only keywords, but (briefly) describe the theory) 
[4 points]
In an economy the following equations and variables are given: 

	Goods market:
	Money market

	C = 200 + 0,8 * Yd
	M = 500

	I = 100 / i
	LT = 0,2 * Y

	
	LS = 500 / i


1.3 Show the equilibrium conditions for both markets. Compute the values of Y and i that lead to an equilibrium on both markets. 
[8 points]
	Equilibrium on the goods market

Y = C + I = Caut + C‘ * Y + I
   = 200 + 0,8 Y + 100 / i
0,2 Y = 200 + 100 / i 
  Y = 1000 + 500 / i 
	Equilibrium on the money market

 M   = LT + LS
500 = 0,2 Y + 500 / i
0,2 Y = 500 - 500 / i
Y = 2500 - 2500 / i 

	                                            Simultaneous equilibrium:

1000 + 500 / i = 2500 - 2500 / i
(  3000 /  i = 1500
(  i* = 2     equilibrium interest rate
	Apply to one of the Y equations: 
Y * = 2500 + 2500 / 2
(  Y * = 625


1.4 The government spends G = 200, financed by direct taxes of the same amount Tdir = 200. Compute the new equilibrium values of Y and i. 
[6 points]
(hint: please compute the result and do not guess, it’s not about Haavelmo)

	Goods market equilibrium 

Y = C + I + AST = Caut + C‘ * (Y-T) + I + AST
   =  200 + 0,8 Y  - 0,8 T + 100 / i + 200
0,2 Y = 200 - 160 + 100 / i + 200
0,2 Y = 240 + 100 / i
  Y = 1200 + 500 / i
	Money market equilibrium 

As above !
 
Y = 2500 - 2500 / i

	                                            Simultaneous equilibrium:

1200 + 500 / i = 2500 - 2500 / i
(  3000 / i = 1300
(  i* = 2.3    new equilibrium interest rate
	Apply to one of the Y equations: 
Y * = 1000 - 500 / 2.5
(  Y * = 783


Task 2 You live in Allemanistan, an economy with the following consumption function: 
                                         C = 500 + 0.9 Y 
 (20 points)
The economy has no government expenditures and does not have any foreign trade at present, private investments are constant at 500.

2.1 Explain the concept of this consumption function (in your own words). Who invented this model (names of author and model)? Can it be verified empirically?. 
 (5 P)
2.2 Complete the following table:    
(4 P)
	Income 
	0
	500
	1000
	2000
	5000
	8000
	10000
	12000
	15000
	20000
	30000

	Consumption
	
	
	
	
	
	
	
	
	
	
	

	AD
	
	
	
	
	
	
	
	
	
	
	


2.3 Calculate the equilibrium level of income. 
 (4 P)
2.4 We are able to increase the investment by I = 100
 (4 P)
Calculate the new equilibrium. You will find, that Y is significantly larger than I. Explain this effect – what is its economic name? 
2.5 Plot the consumption function, investment and aggregate demand on the 45° diagram below. Clearly identify the equilibrium level of income. 
[Make sure you can show both equilibria – and don’t forget to properly label the axes]
 (3 P)
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


Task 3 National Accounting and economic policy in the business cycle
(20 Points)
3.1 Fill the (11) missing words into the following circular flow model:  
(4 P)

[image: image2]
3.2 Explain the concepts and the basic result of the model. Why are there two types of flows?  
(4 P)
3.3 What is the difference between GDP, GNI and NNI. Explain the concepts. Approximately what is the current GDP and NNI in Germany?   
 (4 P)
3.4 Graph and describe the different phases of the business cycle. [Don’t forget to properly label the axes]
 (5 P)
3.5 Describe the two (types of) possible economic policies we discussed in class. Give one real example of political measures for each. 
 (3 P)

Task 4 Macroeconomic Concepts
[20 points]
4.1 Describe the concept of sustainability
[5 pt]
4.2 In 1972 the study “Limits to Growth”, conducted by Meadows et. al. for the Club of Rome open a large public debate. What was it about?
[5 pt]
4.3 What are the main Sources of economic development?
[5 pt]
- physical investment: process of net investment (additions to the nation’s stock  of physical capital)

- human investment: education, health and training are often described as human investment, because they are reliable for a high productivity

- innovation

- reallocation of resources: changes in the distribution of a country’s labor force

4.4 What is the difference between demand-pull and cost-push inflation? Describe in your own words. It may help to use a graph, but is not required. 
 [5 pt]













Good Luck !





































































































flow of ………............





flow of ………............





�











( 20)








( 20)








( 20)














( 20)








P. Schmidt 
Economics 2 – Resit WS 06/07
page 1

